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duration

ca 6 minutes

notation

— accidentals hold for entire bar — accelerate / decelerate: mm
— short long — forte gesture, rather than forte sound
) A ) = result: S
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— gradual transition: ——>

— quarter tone notation:
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— muted string: — tremolo (as fast as possible): — glissando:
— snap (Bartok) pizz: — balzato (number of

attacs indetermined):

il
i

— m.s.t.: molto sul tasto

— s.t.: sul tasto

— p.n.: posizione naturale (‘ordinario’)
— s.p.: sul ponticello

— m.s.p.: molto sul ponticello

— free bowing, unless indicated (indication between brackets are merely suggestions)
— 0000 circular bowing (oscillate between m.s.t. and s.p.)?

- A V: heavy bow pressure (holds for one note (slur) only)

—1/2 legno: bow with both wood and hair

—o / o / e: harmonic pressure / half pressure / stopped note

V0
Yin combination with tremolo stem: fast circular bowing (no real tremolo) g
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